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Question 2 
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                  x = 0 or x =
4

3
            (1 mark) 

but loge (x)  is not defined for x = 0 so x =
4
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Question 3 

a. g(x) = 3loge (x −2)  

Let y = 3loge (x −2)  

Swap x and y for inverse.           (1 mark) 

3

3

2

2

)2(log
3

)2(log3

x

x

e

e

ey

ye

y
x

yx

+=

−=

−=

−=

 

),2(    So

),2(

11 ∞==

=∞=

−− gg

gg

rRd

Rrd
 

311 2)(,: So

x

exgRRg +=→ −−             (1 mark) – correct rule 

(1 mark) – correct domain 

b. i. h(x) = g−1
(g(x))  
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ii. dh = dg          (since h is a composite function) 
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Question 4 

 

a. Note that since variance = 4, standard deviation 24 == . 
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Question 5 
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Question 6 

 

a. We have a binominal distribution where n = 3 and p = 0.6. 

 

Method 1 
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 (1 mark) – recognition of binominal distribution 
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(1 mark) – recognition of binominal distribution 
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b. Let the number of orders placed at the drive-through be n. 

 
 Pr(X ≥1) = 0.84  

1− Pr(X = 0) = 0.84

1−n
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0
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n = 0.84

1−1×1× (0.4)n = 0.84

− (0.4)n = −0.16

(0.4)n = 0.16

n = 2
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Two orders need to be placed. 

 

 

Question 7 

 

We are looking for 
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, the rate at which the radius of the balloon is changing. 
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Question 8 

 

g : R \{0}→ R, g(x) =1+
1
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To Show:   4g(2u) − g(−u) = 3g(u)  
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   as required. 
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Question 9 
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Question 10 

 

The period of the graph of y = a sin(2x) is 
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Question 11 

 

a. Since the graph of y = f (x)  is not smooth at the point where x = 0, then 
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b. f (x) = 2 x − 3x
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